


A differential manometer is used to
measure

(a) Velocity ofair

(b) Membrane pressure

(c) Pressure inpipes

(d) D**rence of pressures between
two points in a pipe

The total pressure on an immersed

surface inclined at an angle 8 with the
fiquid surface is

(a) wA.SinO
(b) wx.sin®

(c) wAx

§ Ax

@ sin Y

Where w = Specific weight of the
liquid

A = Area of the immersed surface,
and - '

> Depthof the ¢ tre of gravity of
the immersed surface from the liquid
surface

The poir at which the resultant
presst : on an immersed surface
acts, is known as

(a) Center of pressure
(b} Centre of depth
(c) Centerofgravity

(d) Centre of immersed
surface

The centre of pressure and the

center of gravity of immersed
surface

(a) Exactlyoverlaps
(b) Liesabove

(¢) Liesbelow

(d) Either ofthe above

The centre of pressure foraverti "'y
immersed surface lies at a distance

equalton. Thenn,is -

(a) AX abovethece srof gravity
L]

(b) j;_ above the center of gravity
Ax

() ] below the center of avity
G

d j; below the centerof | avity

A vertical wa is su ected to a
pressure due to a liquid, on one of its
sides. The total pressure on the wall
1s

(@ vH

(b) yH?
() YyH”
(d) yH/3

where y = specific weight “lig d,
and H=H¢’ ~ht of liquid

When a vertical wall is subjected to
pressures due to a liquid on Hth

sides, the resultant pressure is equal
to the

(Contd.)







































